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Abstract: 

 
 A new approach to calculate the delay time on roads due to the deterioration of the Level Of 
Service (LOS) was adopted. The approach bases on the daily traffic volume and road volume capacity. 
The time value was accordingly estimated based on direct and indirect costs and then compared to the 
cost of the LOS improvement. The results of comparison were demonstrated through figures and tables 
The purpose of this research was to provide decision maker with necessary and optimum way decide on 
whether maintanence or road exteusion is proper solution when los is deteriorated 
 The comparison has shown that time value curves intersect cost of construction a maintanence at LOS 
then we shall know the boundary to improve. LOS by construction new line, upgrading low LOS roads 
depends on both the daily traffic volume and the present LOS of the road.  

 ����	���� *
����Nomenclature  

TD    ��$�	�� +�$�� ���F��� 1	B   
TP����	�� ��*�� ������ ���8 ���     )Time Period(0) 1hour(  
LT     ������ ���8 ��� )Length of time interval(0) 15 min(  
IC      ������ ���8 � � )interval Capasity(0) vehicles/15hr(  
D      ��*��   ������ ���8 ��� �4� ����	��)Demand(0)vehicles(  

CD ������ ���8 �4� 5	��	�� �������� 

"    )Cumulative Demand (0)vehicles(  
VD )��=���    �������� ���� ���8 �$� 5��	�� +8 ���	�� (0) vehicle Discharged(   

CVD  

 ��)��=��� 5	��	�� )  Discharged   Cumulative(  
AD �
 	     ���F���) Average Delay(  
IST I���:( ������ ���8 �
� ���    ����,�  
TV  ����	�� ��*��    )Traffic Volume(   
Qe���2�� ����� 
�" 5��	�� +8 ������� �������� 

"     )Queue at End of interval(  
Qs ���2�� ���
� 
�" �������� 

"     )Queue at Start of interval(  

TDh 1	B  ���F����
*���� �"�����   
T ��.��	�� �����       ��	$C�"����� ������ ��� ��* ��*���   )(hour  
L������ ���       )Km(  
S������ �	
��� 
���	 ��* �"����       )Km/hr(  

C1���$�	�� ��.%��� �2�$      )ID/hour(  
C2 ������ +	
���	� 1	B�� �2�$      ) I D/min ( 

C3  �
��2	�� � 2�	�� �2�$)I D/Year(  
CTD   ����� �	��    (  ID )  
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C1D ������� ��.%��� )�$ +8 ��8���� 
A��"     
C2D )�$ +8 ��8���� 
A��"    ������ +	
���	 

C3D)�$ +8 ��8���� 
A��"    �
��2	�� � 2�	��   
NO������ �
��2	�� J�2�� 

"      
Ph    ��=*�� ��
��� '�*	�� ��hours power) ( 

g      ���B��� ��B ��	$)Lubricating oil(  
f��.%��� �	� 	        

C ���B��� ��B 1�B� ��*     )Litter ( 

t       ��B  ���
�� 1�� 1	B�� 
���� )(hour.  
Vf  �����	�� +8 +	���� ���	�� �
 	  )vehicles /day (   

n  
�
���# ���	B�� ���2��   ����  ��	�)Year (    
r�	��� �
 	       
�������  )Introduction( 

           ����� �	
��� 
���	 �
�� ���� @����� ���$�	�� ���F��� 1	B ����� �8� 	 ��
�=��� ��	�� 1	 
	�8 �8� 	 +������� ����	�� �	��� �#
 	��(� � 
���	 9�2��� 1# '�(0 # �� 5���� !�, K��*� ������ 1�$ 

����$ �$%� ��*��� 1	B !�" �$ �� �	
�� [1]  

   /*��� )
��!�, )
�� �	$ ������ �	
��� 
���	� ���$�	�� ��
�	�� ����� 1�� ��4 �� ����
  !&�,  
&�
*� 
           �	� '�(� 
�
� ����� >�%�C� �2�$� ����� �	�� 5	 ����	�� ��*�� ��4"�*       �(&�� �		&= ��&�4"� ���

9�.��.   
 )�$ 1	 �
�2��#��� �=���� +������� ���$�	�� +�L�% )�$� ��%��	 ��.��� ��%��	�� ��.%���!�,  +��� 
�
*��

 ���		� D ���� ��
�=��� �
�	�� 1	 �:
�" 6�=���8�7�. 

      
�
* ���� /*���� )MNNO(0             +��*�� 5����� ��2�� /�* 1	 ��� �� +8 ����� ����= ��E� ����� !�" B$�
�� ���
, ��E�� ����� �$�%� 
��	 
����  /*���� 1� �	$ ��� ����=)MNNN( �   >�%&�C� )&�$ 1�	�� !�" B$

 /*���� �	, >�%�C� )�$ 1�	��� ��
� 	 !�, �=�� /�*� ��� �� +8 ����� 5���%	�Lee-Kuo) ) ( MNNP ( ,  
    (&�2���� ��� ��B��# �� ��	�� ����� ��	", ������, �
��B !�" �
"��	�� ���� ��E� ������ ���. &	  �4&� 1

                 
���&	 �
�� ���� @����� �
��� 1	B +8 ��B��#� ���� ����8� 
�� 
��;� /�*��� 9 �� ������� /�*���
                  �&�$�	��  ����*�� �"���� !�" 
�	�"#� � ��8 >�%�C� 1	B ��B��� !�" B�$����� ��A�%�, 
 � ����� �	
���

:0 +��*�� ��*��� ��� 
���C ������ ���� ������ '�( !�" ���F��� 1	B� �	
��� 
���	 ��4" '�(� 4	�. 
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 ��* �������+	��)   ��
�� -. �����()T D (:0 

  

        ��� ���* ���	" ��*�	�� Q(: +8 ������F��� ��$�	 �$�� ����� �	
��� 
���	 �
�� ���� @����� 
 !�"�   ������� ������"#�� ������ ���]  [5  
TP    =1    hour                                                                  

LT    =minutes15               
 D V = )     TV (veh\15min       �(�        1�$                   TV (veh\15min) >    IC           
 D V  = IC )       veh\ 15min    (    �(,       1�$                       (veh\15min )TV < IC  

Qe  =  D – IC                                  1�$ �(,                                             D     < IC  
Qe  = 0                                           1�$ �(,                                               D  ≤ IC  
QS    =Qe2��  ����*�� ���2�� ������� ���  

  AD=  )Qs+Qe/ 2    (MP min)  ������ ���8 ���)  (IST (0   1	B ���* 1$	� �(������F���!�����$ :^ 
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D V   
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AD∑      CVD 

����� �� 5�	6��   
        

 ���$ ���$�	�� +�$�� ���F��� ���=   �
 	 _�	�	���F���) AD) ( Veh-min(   
 �
*���� ��$�	�� ���F��� ���=  ���$�	�� +�$�� ���F��� ��� /)��=��� ���;� 5	��	�� ����	�� ��*��) 

(CVD                                                                                                  
 �
*�� �"���� ����8 5��� (�� ����"� !�" ��� �"�� �$� ���F��� ��� K����� ��:  

T D =TDh (min\hr )  T    
 1	B�� 1� /�*�)T  ( �	
��� 
���	 ��* �"����� ������ ���� ��4" D�1(�   

  …………(1)     
)\(

)(

hrkmS

kmL
 х T D=TDh       

). � ���� ��
�� ���   
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                      1	B&�� )&�$� ���$�	�� ��.%� )�$ _�	�	� ��8���� ��
�	 ���* 1	 
�# ��
�	�� ����� �	�� ���*�
   ������ +	
���	�)   ���$�	�� +�L�%(         ������ 5���� ���* +8 1	B��� ��8���� 1" @������    �2� +8 �-	� +����

+�#�$� _��%	�� 
A��" �����:^    
�.$ +8 ��8���� 
A��"  ������� ��.%��� )�=��
�	�� ����� х�2�$  �"����� ��.%���) C1 ( х 365 х V   

 
C1D =TD (min ) х C1 (ID \hr) х 60( min ) х V  х  365  

�.  ������  +	
���	 )�$ +8 ��8���� 
A��"=��
�	�� ����� х  ������ +	
���	 )�$C2 х 365 х V 

  
C2D=TD(min )  х  C2(ID \min) х 365   х  V 

   C3 8      . ���
��� J�2�� �
��2	�� � 2�	�� )�$ +8 ��8���� 
A��"                                           

     C3D =C3(ID\Year) х  NO хV  

CTD=C1D+C2D  +C3D 

CTD =[(C1 /60+C2) х TDх 365   + C3х NO ]  х  V       ………(2) 

 

9.  

:. ���%���� 
�;<	 =�% ���� )C  
)�$ �-	� �� ��.%���.�	�� )�$��� ����-�� )�$��� ]  [60 ]  [7 0]  [8   

/�*:  
 =�%���	����� ��
����:  

 ��-
�#�=  1�
� ��$�	�� �	�������C�  /  �
�=��#� �:�	"  
 ����=��)=`a(% х ��3	 ����$ Q
�
*� ��� �	 ��* �� ��-
�#� �   

 ��	-��#�) =c (%  х    �2�$�� �
 	   
 �
 	 /�*$�� �2�=da %   х  ��$�	�� �	��  
����-�� �2�$���"����� =  ������� )�$�� _�	�	/��"����� ��$�	�� �	"   

 =�%����;	���5 � �����   

 ���C� ��-
��= �����C� �	��/ �"����� �:�	"   
 ����=��=MP% х ���e� ��-
�#�   
 
�����= 
��� ��� � �	��х $ D��	  
 ��B�� = �	��M��B  ���  х D��	$  

 

*� ��B��� 
����� 1	 �$ ��	$ /�*+�;�$:^ ] d [   

 +��� ���$�	���	 �  1�B�����  0.23  х  F  х   ph  �"����� 
����� ��	$=  
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  �B�
���   	���	 � +��� ���$� 0.15  х  F  х  ph =                      
 ���B��� ��B ��	$lubricating oil) (   �"����� 

  
t

c +   
)\(89.0

.)/(0027.0**

lkg

hrhpkgFhp −
   =g 

 ����� �� �"���� �4� ��$�	�� ��� �	 ��� +��� �
	�� +: ��.%��� �2�$ !�" �-3� +��� �	�	�� �	�� �� 1	 /�*
��.%��� �	� 	 �-	� �(:�].  [6 /�* :^  

 ��.%��� �	� 	)F =(     ����=* ��
� !�"F� �"����/�����*�� �"���� ����	  
1(, �"����� ��.%��� )�$ _�	�	 = �"����� ���.�	�� )�$�� _�	�	+�"����� ����-�� )�$�� _�	�	  

>.  ������ -���	��� ��*�� �6�%C2  

+�;�$ ������ +	
���	 )�$ ���* 1$	�:^ ] [9  
�. ������ 1���=�� ������� 1	B�� �2�$                                                                                         

 �=���� �������� ���8 �	� ��$��� ������ +�L�% 

" �
 	 1� ��7�8 �(� ���;�� � ��8�*�� 
 
�
*�)P(  �	 �� 1� K��� 1�(�� ���� 1�� J��%�) 1" �:��	"� ��� 1		)Mf(  
�B� �� ���

 1"da ( �����Pa %  �4� ������� ���� 1�� 1�$��� 

" 1	 ������ �	"Ma) %  ���� ����*
 57��� 1�*� >�7 +8 
���� �
�=��#� g� ��#� �� ��� 1� ��L ���$(	�� ������ 1	 !�"� �������

 �
*���� �"���� ���� �
 	 1� ��7�8 �(,� ���$ �$%� ������� ���� ����� !�" �$ �� +�	;�
 �	� �� J�%��)0 h42�� 0 �	� ��0 )E�	�� (........����� M`aa����
 / ���* 1$	� �(� �"��

 +���	$ 1	B�� �	��:^  
             ^ 1��	� �� ��$��� 

"=Pa % х Na % х P =   `.`P�	�" �$��    

               1	B�� �	��) =M`aa /da ( х`.`P= fP ����
 / ����
  
  
  

�. 
���� ������� ��*�� �6�% 

    9�2�1��	*�� ������� ��$��� 

" �
 	  ����� M.P !�" ���� 1, �A�� �:
��� �	* ����� �$ 
 ��� +8�)Pa ( %  �
 	 i���  �A�� 
"��	 
��� �������� '�� 1	���� �A���� �� +���* Q
"��	 Mcaa 

 ����
 / �"�� +�� �	$ �	*�� ������� 1	B�� �	�� 1�$� D��"�  
 1	B�� �	��) =Mcaa /da ( х   M.P=  fP ����
 /����
     

  

�%5�
�6��� �"6���� =3C. 
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                ��-	�	��� ����� ��
���, 1	 ������� ���
��� �=�2�� �
��2	�� � 2�	�� +:�     +&8 1��8��	�� ��� ��
���<�
                ���&� �&������� �	*�� ������ +8 5A�7���� 
��	�� ��� ��
���, !�, �8�7C�� ��8�*��� ���;� ��������

     ����� +8 �=�*�� �
���)   ���F��� ����(           1&	B 5	 �����	 ��
�	�� ������ ��*��� 1	B !�" 
	� � /�*
 ������ ��.�%�.
���C J�2�� 

" �
*���� ��$�	�� ������ �
��2	��. 

����!��
  ?�<�@� =�%  

•  )�$>�%�������� =    ������ ���) �$( х ������ _�� ��*� 
*���� ��	 ���$�� >�%�� )�$ + �	����
���=�� )���=	� ����*��� . 

• �� �2�$= ����  = ������ ���) �$( х  )�$����=������ _�� ��*� 
*���� ��	 ���$��  1� /�* 
 � ��	�� ������� !�" 
�	�"#�� ����=�� )���=	� ����*�� �	���� �-	� +:� �
*�� ��	� +: ����=�� )�$

�
�=��#� Q�	"� ������ ����=�.   
        � 
�" ����	�� ��*�� ���-� 
� 8 +��*�� +	���� ����	�� ��*�)TV(  ��4 �� ��� 1$	� ������ ����        

            
A�� �� 1��)CTD (  )�$�>�%�C� �"���� ��.�� )S( �	
��� 
���	 ��.��.  
   � ������ ����*�� �"���� ���-� ����	�� ��*�� ��.� 1�� ��4 �� ��� 1$	� '�($ ��* D���                 

 5	)CTD()�$�  >�%�C� ����=��������� ����� �� 
�8 �*�7� �-$� ���=�� 1�$� !�*��               
�#
� 	��� ���� !�" �������  )  ��$_ ��
�_ �
�
*�� (2�	��( �����
 ���*$.    

B.  ����) �
%– 5���– ��
���� �6���� * (������ ����*   

            ����� ����� �	� �� �A���� ! �� �� +���  �������� ����� !�" �����	�� �	
��� 
���	 1��*� !�,
               ���� ����� Q(: 1	� �����	�� ��
��� ��� �� ����)  ��$–  ��
�–   �
�
*�� (2�	��(�� ���#   �#
& 	 
 �	���     �����	�� +8� �7�*�� ����� +8 ��� �� +���	 ��� +*������ ������� ��%��� 1" ������� ����	��.     
       +��*�� ������ ��� i���)km 76 (  �	
� 
���	��)E  ( +8 1��	 �	$ &�� 

�#��))( ����	 ��*� 

)faMl(   ��$�	 /  ���     ������ ����� �� /�*0!�,   /4- >�B��       +8 ����	�� �����#� ��-$� '�(� >�B��   D&�" 
  +8>�B�� 
���     @A��� !�" ��=*��� �
�   +&8 1��	 �	$ ����	�� �	*��    

�E#��)9 ( F): ( F)>(   !&�" 

 67�� +���� +������!=��  5��	 �$� ����	 ��* ) I���:(^ ����, ) (Peak hourly volume  ( �	 � /�*
 ������M` ����� ��	�� �"�� �7���) 1�8 �(� +���� ���� D��$� ����*�� ���	;� :^  

Capacity (IC )= 4013(veh\day)/ 12(hr\day) =86 (veh.\hr )                                           
 

                L=76 km  
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)8-1( ����� ��* ����) ��*���+	��.(   

      1	B ���* ��� )���� ����	�� D	�*� 5��	 �$ ��� ��*� �-4-�� ������ 5���	 1	 5��	 �$� �
�
 +�#�$�:^  

L =L1 +L2 +L3 = 76 km                                                                                 
TD =TD1+TD2+TD3                                                                                                

A.  G����� 

��) �
%– ��!# :(0 

=  44                                                                                             L1   

                                                                            IC=86 (veh\hr)            
 ���� &	� H��

�� G����� -. ��%���� ���+	�� ��* -	+� ��% :  

IST AD 
Veh. –
min 

Qs  
(Veh.) 

Qe  
(Veh.) 

CVD 
 
(Veh.) 

VD 
(Veh.)  

 

CD 
(Veh.) 

D  
(Veh.) ���,   ���:(  

lla 
N``.a 
M`dO.P 
MPaa 

a 
ff 
ON 
Na 
 

ff 
ON 
Na 
MMa 

cd 
MO` 
`Pc 
lff 

cd 
cd 
cd 
cd 

Mla 
`PM 
lfc 
fPf 
 

Mla 
M`M 
NO 
Mad 

M:aa 
M:MP 
M:la 
M:fP 

d:la  
d:fP  
O:aa  
O:MP  

fa`a∑      lff          
 

       TDh (min\hr )  = ∑ AD/344(veh.) =4020/344=11.6 min\hr.   
          
∴ TD1=TDh *(L\S) =11.6 (min\hr. )*44km\S(km\hr. )   

  

∴∴∴∴ TD1 = 
S

4.510  ( min. km\hr) 

  

B.  -����� G�����) 5��� ��!#:(0 

      L2=24 km        
               IC =86 (veh \hr )                                                                           
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 -	+� ��% -����� G����� -. ��%���� ���+	�� ��* ���� &	� H��:  

IST AD 
Veh –min 

Qs  
Veh. 

Qe  
Veh 
. 

CVD 
 Veh. 

VD  
Veh. 

CD 
Veh. 

D  
Veh.  ����  ���:(  

375 
1402.5 

2985 
5370  

0 
50 

137 
361  

  

50 
137 
261 
355  

86 
172 
258 
344  

86 
86  
86 
86 

  

192 
390 
550 
717  

  

192 
198 
160 
167  

11:00 
11:15 
11:30 
11:45 

8:00 
8:15 
8:30 
8:45  

10132.5∑      344          
 

TDh2 (min\hr ) = ∑ AD/344  

TD2 =TDH*L/S 

        =35 (min\hr )  х  24(km )/S(km/hr ) 

 

TD2=
S

840
 (min.km/hr)     

C.  H����� G�����)��� 5–��
���� �6���� (                                     

 L2=8KM                      

              IC =86 (veh \hr ) 

 -	+� ��% H����� G����� -. ��%���� ���+	�� ��* ���� &	� H��              :  
IST AD 

Veh –min 
Qs  
Veh 

Qe  
Veh  

CVD 
 Veh 

VD  
Veh 

CD 
Veh 

D  
Veh  ����  ���:(  

375 
1402.5 

2985 
5370  

0 
50 

137 
361  

  

50 
137 
261 
355  

86 
172 
258 
344  

86 
86 
86 
86 

  

136  
309  
519  
699  

136 
173 
210 
180 

3:00 
3:00 
3:30 
3:45  

6:00 
6:15 
6:30 
6:45 

10132.5∑      344          
 
            TDh3= ∑ AD/344 

            =10132.5/344 

            =29.45( min\hr)     
           TD3=29.45   х  L /S    

                =
S

6.235
 (min.km/hr )  
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                                                                                    ∴Τ∴Τ∴Τ∴ΤD =TD1 + TD2 + TD3       

          

    ΤΤΤΤD  =
S

1586
   (min.km/hr )        ………………..(4) 

 ) 8-2(��
�� ���� ����:   
� ��� ��
� 	�� �8� ����� �	�� ���*)` ()�$  ���* ��� ���$�	�� ��.%�) MC(  �8�7C�� !�, )�$ 

 ������ +	
���	) `C  ( +�#�$�:^   
)M^`^c(. )�$����$�	�� ��.%1) C(:- 

               ��*�� ����� ��
�� _���� /4- !�, ������ +8 ����	�� ) ��$� ��� ������0 1���= ������ 

 ) ��$( �	* ������0) ��*�%(  [10 ], �(� ��8��'* ���  +�;�$ _�� �$� ��.%��� )�$ ���:^ 

 

�. �
��!�� �������� 
�;<	 =�% 

             +�;�$ )�$�� ���* ���:  [11] 

             9�8 !�"1�� � �
 	  �
�
� 1���= ����� Mc �
�=��#� �:�	"� ����
 1���	 P �����         
            �����   ��8�=	�� �
A�2��c %  

 1�B�� ��� 
*�� �2�$ �
 	Paa����
   
 '�*	��  ��B�� ��B ��� 
*�� �2�$ �
 	laaa D��
�� ���� ����
 Mdaa �$ �� �$Mc ��� �"�� 

 �"���� ����	 1�$ �(�Na �$/�� �"  
 
*���� ���C� �2�$ �
 	OPaaa �$ �
����� ����
 )fa( �$� �(� �$ )��1 ���� �	" ����	 

fff ���"�� ����	 1�$ �(� �"�� Na�$ / �"��  
 ����=�� �2�$ �
 	`a% ��$�	�� >��% )�$ 1	  

                   ���* 1$	� '�(� ��� �2�$��.%  +�;�$: 

 

       2�$ �        �������                                         Mc����
 1���	     
                                                  �����C� )�$laaaaa ����
    
       ���� )�$ ���                   �����C�  �
"          MOOaaaaa����
    
        ��$�	�� �2�$ �
 	      a.d х Mc)1���	           ( Macaaaaa����
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�  ������� ����-�� )�$�� 

 ��-
�#�) �
" ������� )�$���C� �:�	" �����     (lPfaaaa����
   
 ����=��`a %                                  ��-
�#�Oacaaa ����
 

 ��	-��#�c%�2�$�� �
 	                             cdfaaa  
 )�$�� _�	�	                          ����-�� �������PMM`aaa     ����
    

 �"����� ����-�� )�$��) ������� )�$�� / �"����� �	 ��    (MMd.O   
�  �"����� ���.�	�� )�$�� 

 
����� ��	$=cP х  )M`a/``a( х a.`l= Ma.d��� /�"��  
��B�� ��	$) )=cP х a.Pf  х  a.aa`O/(a.cN+( ) f\ Mc   (=a.ld ��� /�"��  

 ��-
������                                                          dOP ����
/�"��  
                                     6��=�� ����=                MaM.O ����
/�"��  

                                                    
�����         Plaa ��
��/�"��  
                                                              ��B��Maca ����
/�"��  

                              �"���� +8 ���.�	�� )�$�� _�	�	   OMPd.O ����
/�"��  
                �"����� 1���=�� �������� ��.%��� )�$ _�	�	O`Ol ����
/�"�� 

  
 �0% ���� 
���� ������ 
�;<	 =�)��!����:( 0   

+�;�$ )�$�� ���* ���:  ]MM[  
                �
�
� ����� � � �
 	 1� 9�8 !�"la �
�=��#� �:�	"� ����
 1���	 P �����  �����   

                     �
A�2��   ��8�=	��c %  
 
��� ��� 
*�� �2�$ �
 	) �B�
 (lPa����
   

 �2�$ �
 	 ��B ��� 
*��laaa �$ D��
���� ���� ����
 Maaa �$ �� �$ Ml�"��  

 
*���� ���C� �2�$ �
 	Maaaaa �$ �
����� ����
 )fa(  �:�	" ����	 1�$� �(� �$ )��fff 
�"��  

           ����=�� �2�$ �
 	`a%��$�	�� >��% )�$ 1	  
                 +�;�$ ��.��� �2�$ ���* 1$	� '�(�:  
                                                   ������� )�$        la  1���	����
  
                                                      �����C� )�$faaaaa ����
    
                             �����C�  �
" �������� )�$     `Ndaaaaa����
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        $ �
 	                                  ��$�	�� �2�        Mc1���	 ����
   
�  ������� ����-�� )�$�� 

                                                   ��-
�#�PN`aaaa����
   
                                                    ����=��MMcfaaa����
  

��	-��#�                                                   Mffaaaa             ����
   
                          ����-�� ������� )�$�� _�	�	PMM`aaa     ����
    

 �"����� ����-�� )�$��                                        MNP����
    /�"��  
�  �"����� ���.�	�� )�$�� 


����� ��	$= `aa х )Maa/Mda( х a.MP= MN��� /�"��  
��B�� ��	$) )= `aa  х a.d`P х a.aa`O( /  a.cN +( )P\Ml(= a.OdO ��� /�"��  

 ��-
������ )faaaaa /fff (                                  Naa.O����
 /�"��  
     6��=�� ����= ) a.MP  х ��-
�#�  (                            MlP.M����
 /�"��  

     
�����lPa х  MN                                                        ddPa����
 /�"��  
 ��B��      laaa х  a.dl                                              `laM����
 /�"��  

                             �"���� +8 ���.�	�� )�$�� _�	�	        NNcd.c����
 /�"��   
 _�	�	��)�$                                                    ���$��  MaMcM.c  ����
   

  
 E#
���� ������ 
�;<	 �6�%)�����<��  (  

 +�;�$ )�$�� ���* ���                 : ] MM[  
          �
�
� ����� � � �
 	 1� 9�8 !�"Maa ����
 1���	  �
�=��#� �:�	"�P �����  �����      

            �
A�2��   ��8�=	��c %  
 
��� ��� 
*�� �2�$ �
 	) �B�
 (lPa����
   
 ��B ��� 
*�� �2�$ �
 	laaa�$ D��
���� ���� ����
  )Maaa^`aaa(  �$ �� �$`a�"��   
 
*���� ���C� �2�$ �
 	laaaaa '������ ����
 )M`(  �$ ���� faaaa  �$ ����	 1�$� �(�

�
�=��#� �:�	"fff�"��    
          ����=�� �2�$ �
 	`a%��$�	�� >��% )�$ 1	       
                +�;�$ ��.��� �2�$ ���* 1$	� '�(�:  
                                                     ������� )�$Maa 1���	����
   
        �����C� )�$)M`� ���                             (ldaaaaa ����
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                              �����C�  �
" �������� )�$Ndfaaaaa����
    
                                            ��$�	�� �2�$ �
 	da  1���	����
  

�  )�$������-�� ������� 

                             ��-
�#�                      MN`caaaa����
   
                                                    ����=��lcPdaaa����
  

                                                   ��	-��#�fcaaaaa             ����
   
                          ����-�� ������� )�$�� _�	�	`ONldaaa     ����
    

                                         �"����� ����-�� )�$��dlO.O����
      
�  �"����� ���.�	�� )�$�� 

 
����� ��	$=fPa  х)   dd .a( х   a.MP= fP��� /�"��  
��B�� ��	$) )=fPa х a.dd х   a.aa`O (\a.cN+( MP\Ml= `.aO ��� /�"��  

 ��-
������                                                                    cMaO����
   
         6��=�� ����=                                                       M`Md ����
  

  
�����  fP х  lPa                                                         dNla����
   
  ��B��  laaa х  `.aO                                                 dMdM.P����
   

                              �"���� +8 ���.�	�� )�$�� _�	�	          ``fMf.P ����
   
                                                  ���$�� )�$�� _�	�	       `laP`        ����
    

)�$�� �����                     1���= ��$�	 ��.%�� ���$�� O`Ol ����
 / �"��  
 �����                 ��$� ��� ��$�	 ��.%�� ���$�� )�$��MaMcM.c ����
 /�"��  

$�� ���- �	* ��$�	 ��.%�� ���$�� )�)% ���*�(      �����`lPa` ����
 /�"��  
    ��� ����"#� �E�� (�;� 5	���$  ������ 1���=�� ���$�	�� 1	 ) ��$ ( ���	��� ���-�� �	*���

 1�8  ����
�� 
�� ������ !�":^  
C1=7273  (0.373 )+10181.8 (0.1786)+23502 (0.45 )=15177 DI/hr            
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)I0909( . ������ -���	�� =�%C2  

 /�* ����� ��*�7�� �� 
��      :^                                C2 =45 DI/min 

)I090 :( . 5�
�6��� �"6���� =�%C3  
 � 2�	�� )�$ �
��2	�������� =��$�	�� +8 ����� ����)���:((��)����,( х������ �
��2	�� J�2�� 

"хVхldP          

 �� �� ������ J�2�� 

" 1� /�*�  

" !�" 
�	�"#�� ��*� B���# 
*���� ����� +8 +���	�� 1	B��� ��"��
������ ����*�� ��.�%#�  1(,:   

 �	��1� ������ ��.�%#� ��"�� 

" = M` �"��   
 !�"� �	
��� 
���	 ��* ����* �"�� =Oa �$ / �"��  
ΤD = ``.d ����
 ) ��� ��
� 	�� 1	f(   

� +��*�� ������ ��* 5��� 1���� +��
�	�� 1�����#� �4� 1	� 1��� ���$�	�� +�A�� 5	 ��>�����1� '��: ����� 
 ���$�	�� ��� �������)���;�( )QUEUE( D��" ����� �		 0 �
*���� ��$�	�� ��E��� ��� )�7� �(:�����*  

 ���:( ����� +8 �
*�� ��	 ��$�	�� �������,� /�* 0 :^  
 +8 ��E��#� 1	B ��;� ������=P^d Q(�F� �
 	$� ��"�� P.P"�� �  

  +��-�� ������ +8 ��E��#� 1	B=P^d Q(�F� �
 	$� ��"�� P.P �"��  
    �
��� 1	B ����� /�*� 1������� ��E��#� 1	B +8 ��8�� /
*� )�� �	
��� 
���	 1��*� 
 ��

 ����� ���*	��)2TD ( 1�8 �(� :^  
 ��*��� B���# 
��2	�� �����=ΤΤΤΤD 2+ ΤΤΤΤD 2   
                             =         90.4  ����
   

    ����� �(:��*� B���# +2$���
*�� �=�8 �
��2	�� J�2�� 

" 1� �� ����, �� ���:( �
*�� .  
    �	�  5���	�� 1	 �����	�� 
��	�� i��2���� ��	*��� 1	B 1�8 �	*�� �������� )�� 5A�7��� i��2�� ��	*�  

��*��� 1	B !�, )�7�	�� 

" >�=*, ��� =��  ���� �	
���	�� �	*�� ���$�)��
� 1	  ��A�%�C� 
��	�� (   

 )���	 ��	*�� i��2� ��� D�	 �$� 1� /�* 5A�7��� �	
���	�� �	*�� ���$�	�� 

" 1	 �8�7C�� !�, �
" 
 1	B�� �(: +8 ��8�� 
����
��� 1	B� D������ �
 � +�������  1�8:^  

 ��*� B���# 
��2	�� �����      =8���� �	
��� 
���	 1��*� ���� ������ ���:( �
��� 1	B +8 ��  
                          =       ΤΤΤΤD2 

      =fP.` ����
 .  

ا��#" ا��!��د 
 )'��ز ر$��

  ا�9�+�7 +* و#" ا'�89ر ا��7آ2TD  + �5) إ�3-�(ً و)ذه�-� (ا���ر +* ا��#"=  
 +* ا�;�-�ر <�� =���> ا�;37:
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      ��$��� ��� ������ 
�	�"� ��� )�� �(� ��*� B���# +2$� # ����� �(:�) ���;� ( )�$ ���*� ��8
 �
��2	�� � 2�	��  

     9�8 !�"1�   ������� ���;� ��    ��$ _(�F� MM   J�% �����    
*���� 
�2�� faaa      1� 9�&8 !�"� ����
 
Oa %  ���	����$	<�   ��:(�� �n ���C� �A��		     ��"���� 
�" 1��8��	��� ���F�	��    ������ ��.�%# )  ������ 1�$�

 
�" ����
� ��� �2���� 1��L���� 

" /�* �����	�� ���
��� ��������� �����  (.  
  �	n   ������� !�,       9�8 !� 8  1���=�� ������ 1� ��$��� 

" f J��%� �����  
&*���� 
�2�� daaa )#� 

    ����"#� !�"� ����
1� Oa %      +: 1���=�� �������� 1	����       �������� �
��2	�� � 2�	�� )�$ 1�8  ��&�;� 
 ��*�+�;�$ 5	 (�o� ����
�� 
�� ������ !�" ���	 �$ ���� ����"#� �E�� :^  

C3= [0.1786 (11 х 4000) х70% +0.373 (4  х 6000) х 70%] х 365V 
 

C3 = 4295057 V  

    ��� ��
� 	�� ��*�)`( ������� ��
� 	���  �-	��  ��
�	�� ����� �	�� 1�8:^  
CTD =[15177(DI/hr) /60 +45 DI/ min]  х 1586/S(min-km\hr) х 365V+ C3  
CTD =127180275.5 V/S +4295057 V 

  

�.@� =�% ����!��
 ?�<�  

      67�� &�� 

�#��)B(  )�$ >�%�C���� ��* 
�
� �����   +��*�� ������)Od(  ������ )�=� �$
 
��	��DA�%�, ],  J[  

        1� �	�"
�" 
�
� ���� >�%�� 8��1�$�  
���	�� 
�" A  >�%�, )�$ '��: 1�$� 
���	�� �(: 
�" �(� 
��8�8�7, 5	 ����=�� )�$  �	�� �	���� ��* ������ ������   ��
��� +8 �*7�	�� ����=�� )���=	� ����*�� 

)d (   ��8� ����*	������e�        /�* ������� ����� �	� �� �A���� �	
���	�� 1�   ������ F%�	��    )�� �-�
*  �
&�� 
   
 � ����=��P    1	 �����         !�" �*��	 /4-� (2�� �- ��.%��� �
�    
 	� ����� /4-�� ������ ���  �����	 �

    '�( 
 � '����P        ������ �	" 
� 8 �(�0 ���C� �2�� ����=�� 
� � �- ����� )`a(   ����=&�� ���� )�� ���
                 �&����� �	 �� ����=�� )���=	� ����*�� �	���� 1�8 �A���� ��� 1	 
	� 	�� +��*�� �	��� �
 	 ��*� 1���	

F%�	��   �-�
*        �	$ 6�=�� >�%�C� )���$� !�, )�7� )�� ���	 �     ��� ��
��� +8 )P (     � &� )�= 
�	�"���
   
*���� �#�
��)Maaa(   ����
.   /�*�        �	
��� 
���	 
�"  �
�� ����=�� 1�C      Q
�" ������ 1��*� ����   �&	,

 �	
��� 
���	 
�"F  !�, D��=� ���* +8 
�
� >�%�� !�, K��*� ������ 1�$� �2= ����� ����=�� �2�$ 1�8 
   � 1# 
���	�� �(:  ����=� 52�� #     +	
��� Q����	 1��*��  � 0��  ��.��  
���	 ������ +	
���    �"���� ��.�� )S 

(, [6]  ��
��� +8 1��	 �	$ ��� ) O(.   
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6:45-6:30 24  0  0 20 3 1:15-100 23 5 15 25 15 

7:00-6:45 15  4 0 21 4 1:30-1:15 29 4 7 36 1 
7:15-7:00 20  1 0  16 2 1:45-1:30 25 3 0  30 0 
7:30-7:15 18 6 0  21 2 2:00-1:45 32 0 1 23 3 
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